MATH 1005: College Algebra

Practice Exam
Spring 2019 — February 14 Midterm 1 — Chapter P; Sections 1.1, 1.2, & 1.3
Mr. Nicholas Camacho Total: / 70

Show all of your work in the space provided. Clearly indicate your final answer

1. Evaluate —2% + (—3)% —¢°.

243V A = (06 + (27) -
= -9 -23+ -1
= -36

2. Find the union and intersection of the intervals( Am,B = (—4,10] /
E 1 3 I 0

AVB = (-0, [0]

ANB =(-4,3)
3. Simplify 2 (x_2y4z)lo$, leaving only positive exponents

Z(’)ﬂ'l]"'a)w = 2 (x”’)lo(yv

2. 'X—?’o j °2'?
z_j"{o%lo

x*°
10\ —4
4. Slmphfy > , leaving only positive exponents.
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5. Evaluate (10m — 6)2. / 3

(/OM"G))L= (10m-6) (1om-¢)

F o T L
[0om™ - (0w - [Oowa +30(

]

)

]00mZ — [20m + 36

6. Factor 1627 = 243+ 9. / 3
A= Hx s -24x equal fo effrer 2A4B ,c -14B?
B=13 ‘

ﬂz+2A’B+BL= (A‘l’B)?_ Z‘L/'X -3 = l"{')(

5 - v
foo 248 t8s (4-8)T A HxdE 2 T
Lot ] [Cx*-249x+ 9 = (4x-3)"

7. Factor 2% — 100z — 101. / 3

(x/lol) (x+l)

(x=2)(x+4) (x—3)(x+T7)
(22 +4z—21) (2 +z—12) /3
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8. Evaluate




A 8>z (A-B)(A1B)

. . x? — 16
9. Simplify D=5 /3
<= 6 (9(-%‘” ()A) x4
g I R - "N
— - -5
(x-—ﬂ(X*S’) (M (X S-) X
10. Evaluate %—i—% /2
zZ,F+ _ 5z T
2y s 5 s 12§
- 1o, *
125 s
= 1% .
(s ,
3x T
11. Evaluat + ) 4
valuate Bz =7) (at—é) (x—%)Q /

Lc? (3%-1) (¥-5)

x-3) _ 3x(x-3%) 33> — 2%

i . B iy 1 (2
Brr 05) (0B PG i
~x* (3+-7F) a 3’7(%‘ 7‘7‘2-
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12. Evaluate (—25)%, or state that it is not a real number.

CZS)’/L: N not a reg! WMW_/

13. Evaluate (—32)5, or state that it is not a real number. / 2

Ve s
(_37’3 g: ’\/’:3’2_—' - Qa Vlmub-cr' M/I’LOSc S_ﬁsz I -32
- -1

14. Simplify v/27x + /48x .

/3
T 4 AT = AT 4 AT

= 3A3x '+ Y3
= F3%]

) ) . . . V1T )
15. Rationalize the denominator in the expression W’ i.e. change the expression / 2
so that no radical appears in the denominator.

RS U 15t AN ST
™ 12 2 2

16. Solve for x: 14x — 3 — (3x — 1) = 20.



17. The area of a trapezoid is given by A = %h(a + b), where a and b represent the / 3
lengths of the two parallel sides of the trapezoid, and A is the height. Find b

A = {A(Q“‘b)

A‘Z'k&: Z—'kb
Ac,'(ha+hb7 Vo W W
A= Zha+dup 2A - ha

AT b
nw
18. An item is on sale for %30 off the original price. If the sale price is $805, what / 5
is the original price of the computer?

X= orr?,m.wl Pn‘ce

1150
| — 3x = §06S 7W
' *+

— g0S 3s
Fx =9 iy
F ., o= 505 9

10 %

3% = 8050 @)

19. The length of a rectangle is 3 feet more than twice its width. The perimeter of / 5t
the rectangle is 60 feet. Find the length and width of the rectangle

JE u/7ﬁ4 of Vccﬁwy/c

W= widfh of mm‘m‘y
@ L= 2wt3 )
@ Lo= 24+ 1W (Porinmeer W&‘
(90 - 7__(_7,%)-{')))—'(7/“)

bo= ”WIE“"J L=2(0)+?
gif:([::/ L= 1945
‘,_Vd/_;—q—// }l - 7,//
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20. Solve 6y + 11y = 10 by using the quadratic formula.

C hangt o : 67%//7 —10=0

T han y _ (1) 4 VT 6) ()

2 (6)

= I+ iz1+ 240
| 2

= —(l:[’—{T(a_l/7

[ 22—

21. Solve % 4 62 = —7 by completing the square.

o4lby = - %

L bx +(2) =7 +(—Z(€)2
<X+3)" = -F1 1
(3) = -

243 = tA=
x«—st—wf‘f/



